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CLAS MATHEM
HEMAT
1Cs TIME: 31

o MAX MARK: 80
ATTEMPT ALL THE QUESTIONS

SECTION-A

. Find the greatest value of tha _
] . greatest value of the quadratic function 3+ 5x— 2x for all real
2. Find the modulus ang argument of 5=t r all real values of x.
3. Using mathematical induction oy oy

- prove that n(n+1)(n+5) ; ‘
4. Find the range of x for the inequulity 2 §;+1)£]05) 1s a multiple of 3.
5. Solve the equation (\c2+3x-i-2)2 8 (x2 3 o
: X 2)
I. Using mathematical induction prove that 1+4+7+. +(3n-2) = 2ER=D @)
.

2. (i) Find the square root of 6 + 8i.

(i) Find x and y: (1+i)y* + (6+i) = (2+i) x. @)
3. a) Find k, so that one root of the equation 2kx*~20x + 21=0 exceeds the otherby 2. (3)
. 5o o f e Xx2-2x45 1
b) Find the range of values of x, for wl1lL113-f—-x2_2x_s >z 4)
(3)

4. (a) Using mathematical induction prove that 7" — 3" is divisible by 4.

(b) The roots of the equation px’ - 2(p+2)x + 3p = 0 differ by 2. Find p, and also the
(4)

other root?
5.(a) If o and B are the roots of the equation 2x2=3x+1=0, form an equation whose roots are

(4)

. 4
2pes 404 s
x+2y<18, x+2y< 10, x=0, y=0 (4)

(b) Solve the equation graphically 3
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SECTION-B

~ 0-
. : i ntral angle of 72% intercepts gy, are op .
Find the radius of a circle in which a ce I““glh

22cm. 05 X cot 585
i f sin4 )
Find the valu::so ies in the second quadrant, find the value of Cosecq
Ifseco = ~5 and @lies in ) (10 0) = 1 Coty,
— cos(40 + 8) sin + == '
Prove that sin(40 + 8) cos(10 + 8)— cos( > (%QJ

- -6
sin(180+6) cos(90+0) tan(270~-6) cot(360 ) ]

Prove that sin(360-8) cos(360+6) cosec(-8) sin(270+86)
OR

Cos 8-sin8
— SO
Cos 8+ sin8

Prove that = tan 37.

sin5x-2 sin 3x+sinx _
Prove that = tanx.
COS 5x—Ccos x

Solve the equation sin x — 3sin 2x + sin 3x

= COsXx = 3 cos 2x + Cos 3x

Ifcos A = 222t show that the triangle s isosceles using sine 1qy and cogie

2sincC
If cosg = ;_‘ and cos @ =§ where Band @ both [je in the fourt}, Quadran, +fing

the values of (i) sin(g — @) (i) tan(@ + )
OR

Solve sin 2x + sin 4 +sin6x =0, (Sx4)

Prove that €os 20. cos 40. cog 60.cos80 = 1L

16
a?-p2 —. Sin(4-p)
Inany AABC prove that = m (2x6)

And

sec88-1
Prove that 2¢86-1
sec40-1
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